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R 194F 48 13 35 983 250 733 83 31 52 11 - 11
20 49 10 39 978 177 801 84 24 60 11 - 11
21 49 11 38 933 165 768 81 25 56 11 - 11
22 50 9 41 936 154 782 82 24 58 8 - 8
23 48 10 38 945 154 791 92 27 65 10 - 10
T SEANME B S HE 3 3 - 50 50 - 10 10 - - - -
T SEANE PG S HE 4 4 - 69 69 - 11 11 - - - -
N3 ) 1 ShHER 3 3 - 35 35 - 6 6 - - - -
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FLNT & < DYhHER 11 - 11 224 - 224 18 - 18 5 - 5
FLSTH L DS HERE 7 - 7 177 - 177 13 - 13 2 - 2
FLSTRE TS — ShHE 7 - 7 142 - 142 10 - 10 2 - 2
FLSTRE SR S5 — ShHE 9 - 9 184 - 184 15 - 15 1 - 1
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